¥+ 25mBRERSS-X7

1 2 25FR A 3% TF 16.10
2 INS 25FR EHE thE =2 17.42
3 IN5 25FR IR B TF 17.75
4 INS 25FR o BE Bx 18.13
5 1\6 25FR TR —XE =YK 18.19
6 th1 25FR Mmoo EN F 18.25
7 INS 25FR HEARHH L Al 18.40
8 th1 25FR FM 2 %k 18.90
9 /N5 25FR BEs0B EES 18.98
10 N4 25FR ZH it Bx 18.99
11 2 25FR TR B¥ IF 19.03
12 INS 25FR Kicn Bx 19.13
13 IN5 25FR LR = 2k 19.43
14 INS 25FR BEsEA Bx 19.54
15 1\6 25FR B =i TF 19.55
16 I\6 25FR KB ¥E Bx 19.79
17 1\6 25FR MR BAIK 2k 19.89
18 INS 25FR BRA B Bx 19.91
19 N6 25FR =18 W& EES 19.94
20 I\6 25FR EHR FRK St 19.95
21 N5 25FR H=E #X B 19.97
22 I\6 25FR xR B ik 20.03
23 IN5 25FR wH &R 2 20.10
24 I\6 25FR SHH #EIK IF 20.17
25 N6 25FR hEF (MR =ES 20.55
26 INS 25FR BH ER TF 20.61
27 1 25FR PR BRR EES 20.66
28 N4 25FR MR ELsE St 20.71
28 N4 25FR MR 2 ik 20.71
30 INS 25FR ¥ BE KA 21.25
31 N3 25FR FEH EE TF 21.26
32 INS 25FR WBFH #it B 21.35
33 N3 25FR FREFRETH3E IF 21.37
34 IN3 25FR PafE IBR IF 21.77
34 N4 25FR X ZME =3 21.77
36 th2 25FR tHE 24 2l 21.90
37 N2 25FR ZH F4& TF 21.94
38 N4 25FR N = TS Pl 22.25
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/N3
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/N3
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25FR
25FR
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25FR
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25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR
25FR

Hp F5
Hep 30X
NI BE
2 A
H %7
BB %
AFLE BR
NHRIIE
FH =K
L E=
IR B
BA FIIR
O =

MARE DXZE
=it FBE
a2
BxyaC
S HhE
hiXHE KB
HIf #i8
=R L&
21
BH s
INRT (8E
/NH KE

EF
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22.35
22.36
22.53
22.55
22.71
22.77
23.22
23.29
23.30
23.31
23.42
23.50
24.14
24.21
24.99
25.04
25.24
25.70
26.03
26.26
29.40
29.93
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9 NHEE~/\F2F 25mBEH - _
JIE{i7 P [EA=] 81 FIE SCEE
1 N2 25FR ZH HF4E = 21.94
2 N2 25FR HiRE KB =i 26.03
INFIFE 25m Z _ _
JIE{i7 A & 481 FE SLEE
1 /N3 25FR TR OEE = 21.26
2 N3 25FR thEFfE R = 21.37
3 /N3 25FR i T ES = 21.77
4 N3 25FR M = = 22.36
5 N3 25FR iR R = 22.55
6 N3 25FR A ¥F = 22.71
7 N3 25FR HiE X B 22.77
8 N3 25FR AFRLE B&E B3 23.22
9 N3 25FR MARE BXZE =i 24.21
10 N3 25FR =it FHE =i 24.99
11 N3 25FR A ##E = 25.04
12 N3 25FR BxEsrEC B 25.24
13 N3 25FR hE hEE I=E3 25.70
14 N3 25FR Ml FiE B 26.26
15 N3 25FR = RY=1 A# 29.40
16 N3 25FR S 55 =i 29.93
17 N3 25FR B E A# 30.39

TF NFAFE 25mBERF _ _
JIIE{iz P LEA=] 481 = SOEE
1 /N4 25FR ZH et I=ES 18.99
2 N4 25FR IR BB sE = 20.71



2 I\4 25FR LN == 2R 20.71
4 I\4 25FR B AME =E3 21.77
5 N4 25FR U= Vil 22.25
6 I\4 25FR Mt FZ F=F 22.35
7 I\4 25FR AT BE e 22.53
8 I\4 25FR HERPE FF 23.29
9 I\4 25FR FH &k =k 23.30
10 I\4 25FR L E= =it 23.31
11 I\4 25FR R B =E3 23.42
12 I\4 25FR BA FIIkE =it 23.50
13 N4 25FR O =F AA 24.14
INFSE 25mERA _ _
JIE{i7 P = 81 FE SoER
1 IN5 25FR EME A =it 17.42
2 IN5 25FR Ikt FF 17.75
3 I\5 25FR &t BE B 18.13
4 /N5 25FR PERIHEH L) Vil 18.40
5 IN5 25FR = day:] BHx 18.98
6 IN5 25FR KikEa EE BHx 19.13
7 IN5 25FR E &wmE 2R 19.43
8 IN5 25FR BxrsHA BHx 19.54
9 IN5 25FR PRA Bl BHx 19.91
10 IN5 25FR A= £X BHx 19.97
11 IN5 25FR BH =8 =it 20.10
12 IN5 25FR B EBR TF 20.61
13 IN5 25FR ¥l BE KF 21.25
14 IN5 25FR B T BHx 21.35
¥ \FefE 25mBEMf _ _
JIB{37 FE JE=] 8] FE OBk
1 I\6 25FR SR —5E =it 18.19
2 I\6 25FR A 295 TF3F 19.55
3 I\6 25FR KB #B BHx 19.79
4 N6 25FR MR BALR 2R 19.89
5 I\6 25FR =8 BHx 19.94



6 /N6 25FR MHE RE =i 19.95
7 N6 25FR bFR IR &k 20.03
8 NG 25FR SH K TF 20.17
9 N6 25FR ey I Bx 20.55
10 NG 25FR BT #8E = -3
F4 25m 2 _ _
lIB{iz ZE JEd=| =11 = SLER
1 F12 25FR AR F FF 16.10
2 1 25FR mw =Y F 18.25
3 F1 25FR FRE % 5 18.90
4 2 25FR T BE¥ F 19.03
5 o1 25FR MR BHRR B 20.66
6 2 25FR MH 24 = 21.90
7 o1 25FR INEH RE B 2iE



9 NHEE~/\F2E S0mBEHA - _
JIIE{iz A [EA=] 81 PIE SCEE
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TF INFEIFE~NFA4E S0mBERF _ _
JIIE{iz P [EA=] 481 = SLEE
1 N4 50FR YN 2R 45.21
2 N3 50FR APLE BE B 50.07
3 N4 50FR NI BE %R 50.58
4 4 50FR U= A# 52.62
5 v 50FR FH =X =i 53.67
6 N3 50FR Ml FiE B 55.91
7 N3 50FR HiE X B 57.79
8 N3 50FR A ##E = 57.96
TF INFESE~/NFEE S0mBHE _ _
JIIE{iz P e 48] = SOEE
1 ING 50FR Ikt B = 39.58
2 INS 50FR o BE I=ES 42.22



3 /\5 50FR BEXsaB Bx 43.30
4 /N5 50FR HEARHEL A# 43.33
5 /N5 50FR NE”L E Bx 44.29
6 N6 50FR MR BRI %k 44.75
7 N6 50FR SE —XE S 46.29
8 N6 50FR &HH #EA EF 46.46
9 /\5 50FR #H F1t Bx 47.24
10 N6 50FR MHE RE =i 48.25
11 /N5 50FR BH EBR EF 48.50
12 /N5 50FR ME &85 %R 51.90
4 50m 2 _ _
lIB{iz ZE JEd=| E= 11 iz SLER
1 2 50FR T BE¥ F 40.49
2 1 50FR mw =Y F 40.89
3 2 50FR MH 24 = 50.73
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Jllﬁlm A [EA=] 81 = SOEK
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TF INFIFE~NFEAE 25m/\FT5A _ _
JIE{iz P JEA=] AR = SOk
1 N3 25FLY =ith FHE =i 27.63
2 N3 25FLY A #F FF 27.83
3 N4 25FLY O &7 PVl 28.10
TF INFELSE~NFE6E 25m/\FT54 _ _
JIE{iz P [EA=] 3581 FiE SCER
1 /\6 25FLY YR —iHE = 21.11
2 /N5 25FLY JEH A =t 21.32
3 IN5 25FLY TEARHHL K 21.94
4 INS 25FLY ) BE A 26.24
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L MR~/ NFIF S50mIFI51

(T Zh] i Six
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
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T INEIE~NFAE 50m/\IT54 . _
BT ZE =] Z 5 i Sk
1 N4 S50FLY ZH P I=E3 48.63
2 N3 S50FLY TR EE FF 54.37
3 N3 S50FLY Hh Eix FF 58.44
TF IINFESE~NFEEE 50m/\FITT4 _ i
IEtiva = e Z 5 Sl Sk
1 N6 S50FLY =H K FF 49.22



L F PEAE S0m/N\9Jo54

NEfT Z 0 e, Sk

1 th2 50FLY LA & = 36.27 KE&#H



TF ORI~/ \F2E 25mIFIKE.

&7 P LE=] FE] FhE SOEK
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
TF INFIFE~INFAE 25mMIPIKE _ .
JIE{iz P JEA=] ZE] = SOk
1 4 25BR #O =7 Wil 27.82
2 /N3 25BR A ¥ FF 28.85
3 N4 25BR T EBE = 31.09
4 N4 25BR A FIEE Y 34.88
5 N4 25BR R =2 S 35.15
6 N3 25BR S 55 =Y 36.96
7 N3 25BR FARE) DxZe Y/ 37.48

TF INFES~INEOE 25mIPKE

R EZ:S El= ZE) e Stk

1 /N5 25BR L Wz ik 25.86



JIBf7

F4 25mIPkE

FE 1EH
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el




LT s~/ \F2E SOmYkE

BT 2 = ELOx
1 N2 50BR okE KB =i 1.12.41
TF INFEIFE~NFL4E S50mMIFIKE _ _
B4 P JE=] 81 FE OBk
1 I\4 50BR ZH 1Bt BHx 51.48
2 N3 50BR TH =B FF 59.06
3 N4 50BR A F& FF 59.43
4 N3 50BR 2iy B FF 1.01.83
5 N4 50BR FAH &=k = 1.03.83
6 IN3 50BR el YL FF 1.04.45
7 N3 50BR WO e FF 1.07.49
8 N3 50BR HE ME =S 1.11.10
9 N3 50BR SN =] Vil 1.15.42
T IINFESE~NFE6E 50mIFiKE _ _
JIB{37 FE & 8] FE sUER
1 IS 50BR A EE FF 48.81
2 IS 50BR KikEa EE BHx 53.23



3 16 50BR hEF I EES 56.70
4 16 50BR KB ¥E EES 56.94
5 IN5 50BR mH 1EH =i 58.41
6 IN5 50BR L ImZE sk 58.81
7 IN5 50BR Bxs6B HxX  1.01.99
8 IN5 50BR T ER EF  1.04.86
9 IN5 50BR RH it BHXx  1.05.98
10 16 50BR /ML #@E S ®iE
FAE SOmPIkE ___ _
X3 FE 1EH E XD Fil= ELER
1 1 50BR R 2 ok 43.50
2 1 50BR A EHR EES 57.10



TF ORI~/ \F2E 25mEIKE.

75 e 1= 2B e S
1 N2 25BA ZH TH&E IF 23.37 K&

LF INFIE~/NFAE 25 MEIKE

G =23 fEd= Z 0 e, Sk
1 N4 25BA TN EAE =Y 28.26
2 N3 25BA =) 5k =t 33.29
20

ZF INFSE~/NPOE 25mEKE
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Z DHEE~/\NF 2 SOMESHKE _ _
{7 FE LE=] 81 FiE SOER
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9
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TF INFEIFE~NFL4E S50mMEKE - _
B4 FE JE=] 81 FE OBk
1 N4 50BA U= A 55.06
2 N3 50BA AFLE BR BHx 56.29
3 IN3 50BA Hh =0k FF 58.34
4 I\4 50BA FARENE FF 58.60
5 N4 50BA AT BE e 59.93
6 IN3 50BA A s BHx 1.01.29
7 N3 50BA B E R 1.04.16
8 N3 50BA SN =] Vil 1.13.72
TF IINFES~INE6E S0mEKE _ _
JIB{37 FE JE=] 8] FE sUER
1 \6 50BA ik 1B %k 50.45
2 N6 50BA Hh =B FF 50.66



3 /N5 50BA mH #EH

S 58.36
4 IN5 50BA g a55 ik 59.14
F4E SOMEIKE — —
X3 FE 1EH E2T:D] il ELER
1 1 50BA A EHR EES 49.76



L7 IR~/ NFE2E 100mBIAXRL — _ -
Jllﬁlﬁ o LE=] 81 PIE SCEE
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8
9
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11
12
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14
15
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17
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19
20
TF IINFEIE~NFEAE 100mBAXRL— _ .
IEYivi A JEA=] 8] = SCER
1 N3 100IM fafE B TF 1.59.60
2 \4 100IM MHERPE TF 2.05.86
3 N4 100IM fRx ZME B 2.09.41
4 N3 100IM BErEC B 2.10.72
5 N4 100IM IRE Bk B 2.12.98
6 N3 100IM HiE X B 2.19.85
TF IINFESE~/NFEE 100mEAXRL— _ _
[EYivd P LE=] 81 FiE SCER
1 \6 100IM H =R TF 1.43.50
2 \6 100IM =18 A =S 1.46.44
3 /N5 100IM EH MEH = 1.49.49



4 IN5 100IM ¥ BE AA 1.57.44
5 IS 100IM BErEA BHx 1.58.95
6 IS 100IM HE {£3% =E3 1.59.51
7 N6 100IM EHE XK Y3 2.03.56
8 N6 100IM ] A £ =E3 2.04.42
9 6 100IM INAT BE Sl 2
24 100mBEAXRL— . _
JIE{i7 FE iEH I FE OBk
1 th2 100IM A 35 FF 1.27.25
2 1 100IM Mmoo EN FF 1.35.99
3 ==lp) 100IM T B¥ FF 1.36.97
4 th2 100IM A BfE =i 1.57.72
5 =ah} 100IM /NH KRE B 2iE



TF WHEE~/NFE2E 200m{BEIAXRL —

B S = ZE e ke
1 N2 200IM ZH F4E IF 4.10.97 K&

YT INFIENFAE 200mIBAXEL —

JEfi7 s 1= ] 7l ZLox

2l

N = = = = = = = =
OCLVONOUAWNROOLOOINUTHAWNH

T INESE~/VEEE 200m{EAAEL —

EfT EZ:3 E=] 2 Py Six

1 /N5 200IM PRA &l =]
2 /N5 200IM ot B

3.41.17
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1 1 200IM =R Bx =313
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HF INESE~NEEE 100mTKE
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1 /N6 100BR =18 s Bx 1.52.82



i 100mEANL -

2 R 1
lEfi7 F 1EH A

1

2
3
4
5

el



